
PRACTICE PAPER - I 

MATHEMATICS 

1. If l(x) = (a ...,;x")1h', when a > 0 and n E N,
then lo l(x) is equal to
(a) a (b) x
(c) x" (a) a"

2. The image of the interval [-1, 3), under the
mapping f : R -> R given by f (x) = 4x2 - 12x
is
(a) (8, 72] (b) (-8, 72]
(c) (0, 8] (a) none of these

3. If A= (1,2,3,4), then.which of the following are
function from A to itself ?
(a) 1 1 

= {(x, y)ly = x + 1} 
(b) 12 = ((x, y)lx + y > 4} 
(c) 13 = 

{(x, y)I y < x} 
(a) '� = {(x, y)lx + y = 5}

4. If f : R -> R be a mapping defined by
f(x) = x3 + 5, then 1-1 (x) is equal to
(a) (x + 5);13 (b) (x - 5)11\
(c) (5 - x) 113 (a) 5 - x

5. Let f : R -> R be a function defined by
f(x) = cos l5x + 21, then f is
(a) injective
( c) bijective

(b) surjective
(d) none of these

6. The curve represented by lm(z2) = k, where k
is a non-zero real number, is a
(a) circle (b) ellipse
(c) parabola (a) hyperbola
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7. If z lies on lzl = 1, then - lies onz 

(a) drde
(c) line 

(b) ellipse
(a) parabola

8. The maximum value of lzl, when Jz +ii= 2 is

(a) Jj -1 (b) Jj
(c) ./3 + 1 (d) .fi + JJ

9. If lzl = 3, then points on -1 + 4z lie on a
(a) line (b) cirde
(c) parabola (d) none of these

10. let a,b,c are in G.P. of common ratio r, 0 < r < 1.
-· II a, 2b, 3c form an A.P., then r equals

1 � 1 
(a) - (b) -· 

2 3

2
(c) 3

1 1 

(a) none of these

11. If 3 + 
4
· (3 + d) + 42 (3 + 2d) + ..... + en = 8,

then value of d is 
(a) 9 (b} 5 
(c) 1 (a) none of these
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12. 1+13

+ J3 
+ 

Js + Js 
+ 

.fi + .....

(a) .J2n + 1
(b) Jn+ 1
( c) .J2n + 1 -1 

(a) .!.(.J2n+1-1)
2

13. If a, p E R, are the roots of the equation
ax2 + bx + c = 0, k e:: R, l ies ·between
a and p, if
(a) ak2 + bx + c < 0
(b) a2 k2 + abk + ac < 0
(c) a2k2 + abk + ac > 0
(a) none of these

14. If the roots of equation (x - b) (x - c) + (x -c) 
(x - a) + (x - a) (x - b) = a are equal, then
(a) a+ b + c = O

(b) g + bw + cw2 = o
(C) a - b + C = 0
(a) none of these

15. If x2 + px + qr = O, x
2 + qx + rp = 0 and

x2 + rx + pq = 0 has a common root, then
product to there common roots is 
(a) p q r (b) 2 p q r

(a) none of these
16. If "P, = 720 •·c,, then value of r. is

(a) 6 (b) 5
(c) 4 (a)7






















